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Math 560

Limits using the Limit Laws

§2.3

Determine the following limits or indicate that the limit does not exist.
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Using the Limit Laws (i.e. algebraically), determine the limits of #1 and #3.

Solution:
341 1)(z? — 1
i +1 lim (x+1)(2* —2+1)
z——1 v+ 1 r——1 x+1

lim (2% —x +1)
z——1

(-1)> = (-1)+1=3

Vit+5-3 VI+5-3 Vz+5+3

D S R

. r+5-—9
= lim

a4 (x —4)(Vz + 5+ 3)
. r—4
= lim

a4 (x —4)(vVz + 5+ 3)

1

= lim ——

=4 \/x+5+3
B 1 _1
343 6

z—0

1
. Use the Squeeze Theorem to determine lim x cos —.
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9. Determine the constant k such that the following limit exists.
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Solution: k=5

10. Determine the constant k such that lir% f(x) exists, given that
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Solution: £ =1




